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2. PRV : HL 240mL ZETR/KAT 960mL AR, 7o/ iR IR .

3. A ImL ZGEK, ADEREF— (2 50mg), TERIEEEGKAT T ARHE, A 10mL BEEAE

4. FHIRBGBMERIER, T MR N B, RN R 10mL, BB RUE BT R AR R L
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5. HURHE 200pL Tl A e bt /96 FLHR, $EBURIAE, WI5E 663nm F 645nm AWGAE, FAlid A
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THEARN:

M2 a 58 (mg/g BFE) = (12.7x Ages — 2.69 x Aggs) XV $xD-+m=1000
=0.01x (12.7x Aggz —2.69 x Agss) xD+m

HEZE b SE (mg/g BFH) = (22.9x Ags —4.68 X Aggz) XV HExD-+m-1000
=0.01x (22.9% Agss — 4.68 x Aggz) xD+m

HERBRSE (mg/g BEE) = (20.21x Ags +8.02 x Aggs) XV HExD -+ m=1000
=0.01x (20.21x Agys +8.02 X Aggz) xD-+m
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